

Page 1 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	26,674.00000	26,674.00				
_	RMANCE BOND AND NT BOND	DOLL						
0004	153003P	(1)	45,000.00000	45,000.00				
PROGRI	ESS SCHEDULE	LS						
0005	153005M	5.000	3,500.00000	17,500.00				
PROGRI	ESS SCHEDULE UPD	ATE U						
0006	154003P	(1)	545,000.00000	545,000.00				
MOBILIZ	ATION	LS						
0009	157004M	1.000	50,000.00000	50,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0014	159003M	130.000	1.00000	130.00				
BREAKA	WAY BARRICADE	U						



Page 2 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	: Set:	Cat A	It Member:	
0015	159006M	330.000	1.00000	330.00				
DRUM		U						
0016	159009M	500.000	20.00000	10,000.00				
TRAFFIC	CONE	U						
0017	159012M	2,821.000	20.00000	56,420.00				
CONSTR	RUCTION SIGNS	SF						
0018	159015M	2.000	1,000.00000	2,000.00				
	CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'							
0019	159027M	2.000	100.00000	200.00				
FLASHIN	IG ARROW BOARD, 4'	X 8' U						



Page 3 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member Q	tuantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	: Set:	Cat A	It Member:	
0020	159030M	3.000	18,000.00000	54,000.00				
PORTAB SIGN	LE VARIABLE MESSA	GE U						
0021	159108M	2.000	7,500.00000	15,000.00				
_	CONTROL TRUCK WIED CRASH CUSHION	TH U						
0022	159141M	972.000	114.00000	110,808.00				
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						
0023	159300M	856,300.000	0.28000	239,764.00				
TRAFFIC	STRIPES, LATEX, 4"	LF						
0024	159302M	35,100.000	0.31000	10,881.00				
TRAFFIC	STRIPES, LATEX, 8"	LF						



Page 4 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Al	Set:	Cat A	It Member:	
0025	159310M	24,800.000	0.28000	6,944.00				
TRAFFIC LATEX, 4	MARKINGS LINES,	LF						
0026	159314M	23,100.000	0.90000	20,790.00				
TRAFFIC LATEX, 2	MARKINGS LINES, 4"	LF						
0027	159320M	10,200.000	1.20000	12,240.00				
TRAFFIC LATEX	MARKINGS SYMBO	LS, SF						
0028	160004M	1.000	4,100.00000	4,100.00				
FUEL PR	ICE ADJUSTMENT	DOLL						
0029	160007M	1.000	10,100.00000	10,100.00				
ASPHALT	FPRICE ADJUSTMEN	NT DOLL						



Page 5 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	: / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0030	161003P	(1)	50,000.00000	50,000.00				
FINAL CI	_EANUP	LS						
0031	201003P	(1)	45,000.00000	45,000.00				
CLEARIN	IG SITE	LS						
0032	401009P	30,600.000	6.00000	183,600.00				
HMA MIL	LING, 3" OR LESS	SY						
0033	401017P	5,700.000	13.00000	74,100.00				
MICRO-N	MILLING	SY						
0034	401021M	500.000	60.00000	30,000.00				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						



Page 6 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 **District(s):** C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	Alt Set / Alt Member Quantity and		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro		Roadway		Cat Alt	Set:	Cat A	It Member:	
0035	401024M	10,000.000	2.60000	26,000.00				
	OF CRACKS IN HO							
0036	401027M	5,000.000	0.50000	2,500.00				
POLYME	RIZED JOINT ADHES	SIVE LF						
0037	401030M	83,340.000	2.80000	233,352.00				
TACK CC	DAT	GAL						
0038	421010M	5,900.000	113.55000	669,945.00				
SLURRY II	SEAL AGGREGATE	, TYPE T						
0039	401054M	3,520.000	150.00000	528,000.00				
_	ASPHALT 12.5 M 64 E COURSE	Т						



Page 7 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 **District(s):** C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0040	401108M	15.000	130.00000	1,950.00				
CORE SAN	MPLES, HOT MIX	U						
0041	421011M	174,300.000	10.48000	1,826,664.00				
SLURRY S	SEAL EMULSION	GAL						
0042	602099M	10.000	1,517.45000	15,174.50				
RESET EX	CISTING CASTING	U						
0043	602210M	10.000	600.00000	6,000.00				
BICYCLE	SAFE GRATE	U						
0044	602213M	102.000	781.20000	79,682.40				
CURB PIECE U								
0045	610003M	285,500.000	0.36000	102,780.00				
TRAFFIC	STRIPES, 4"	LF						



Page 8 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0046	610007M	11,800.000	0.72000	8,496.00				
TRAFFIC	STRIPES, 8"	LF						
0047	610012M	50.000	80.00000	4,000.00				
RPM, MO LENS	ONO-DIRECTIONAL,	WHITE U						
0048	610013M	8,300.000	0.56000	4,648.00				
TRAFFIC	MARKING LINES, 4	" LF						
0049	610017M	8,000.000	6.18000	49,440.00				
TRAFFIC	MARKING LINES, 2	4" LF						
0050	610018M	50.000	80.00000	4,000.00				
RPM, MO	DNO-DIRECTIONAL, LENS	U						



Page 9 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0051	610024M	100.000	30.00000	3,000.00				
REMOVA	AL OF RPM	U						
0052	610027M	360.000	15.29000	5,504.40				
REMOVA RPM LEN	AL AND REPLACEM NS	ENT OF U						
0053	610036M	297,300.000	0.70000	208,110.00				
REMOVA	AL OF TRAFFIC STE	RIPES LF						
0054	610039M	21,600.000	4.35000	93,960.00				
REMOVA	AL OF TRAFFIC MAI	RKINGS SF						
0055	610060M	3,500.000	6.72000	23,520.00				
TRAFFIC	MARKINGS SYMB	OLS SF						

Section Totals: \$5,517,307.30



Page 10 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construc		ngineering	Cat Alt	Set:	Cat A	It Member:	
0007 155009M	1.000	50,000.00000	50,000.00				
FIELD OFFICE TYPE C SET	UP U						
0008 155027M	13.000	6,500.00000	84,500.00				
FIELD OFFICE TYPE C MAINTENANCE	MO						

Section Totals: \$134,500.00



Page 11 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0003	Non-Participation	ng (Roadway)	Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	6,200.00000	6,200.00				
	S AND CONTRACTOR'S TIVE LIABILITY NCE	DOLL						
0003	152015P	1.000	18,500.00000	18,500.00				
POLLUT	ON LIABILITY INSURAN	CE DOLL						
0056	801006M	200.000	42.00000	8,400.00				
SELECT	IVE THINNING	SY						
0057	802009M	2.000	1,050.00000	2,100.00				
	IG EXISTING TREE, OVE 4" DIAMETER	R U						
0058	802021M	17.000	1,232.00000	20,944.00				
TREE RE	EMOVAL, OVER 6" TO 12 ER	" U						



Page 12 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	Non-Participatir	ng (Roadway)	Cat Alt	Set:	Cat A	It Member:	
0059 802024M	5.000	1,750.00000	8,750.00				
TREE REMOVAL, OVER 12" DIAMETER	TO 18" U						
0060 802027M	7.000	2,380.00000	16,660.00				
TREE REMOVAL, OVER 18" DIAMETER	TO 24" U						

Section Totals: \$81,554.00



Page 13 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 Erosion C		Erosion Control		Cat Alt Set:		Cat Alt Member:		
0010	158030M	530.000	10.00000	5,300.00				
INLET FIL	TER TYPE 2, 2' X 4'	U						
0011	158033M	50.000	10.00000	500.00				
INLET FIL	_TER TYPE 2, 4' X 4'	U						
0012	158072M	2.000	1,000.00000	2,000.00				
OIL ONLY TYPE 1	Y EMERGENCY SPIL	L KIT, U						
0013	158084M	1.000	1,000.00000	1,000.00				
EROSION REMOVA	N CONTROL SEDIME L	ENT CY						

Section Totals: \$8,800.00



Page 14 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 **District(s):** C1

Call Order: 121 Project(s): NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0005 General Landscape Cat Alt Set: Cat Alt Member:

 0061
 805003M
 600.000
 11.90000
 7,140.00

 TURF REPAIR STRIP
 LF

Section Totals: \$7,140.00



Page 15 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0006	Bridge - 1315-1	54	Cat Alt	Set:	Cat A	It Member:	
0062 551024M	50.000	694.10000	34,705.00				
HEADER RECONSTRUCTION	ON, HES LF						
0063 555025P	148.000	661.55000	97,909.40				
RETROFIT STRIP SEAL JOI SYSTEM	NT LF						

Section Totals: \$132,614.40



Page 16 of 16

Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 District(s): C1

Call Order: 121 **Project(s):** NHP-0036 (300)

Contract Time: 06/06/19 COMPLETION DATE Min: Max:

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.						
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007 Bridge - 1318		Bridge - 1315-	156 Cat Alt Set:		Cat A	Cat Alt Member:		
0064	551014P	107.000	137.95000	14,760.65				
DECK JOINT RESEAL LF								
0065	551024M	50.000	694.10000	34,705.00				
HEADE	R RECONSTRUCTION	N, HES LF						
0066	555025P	74.000	661.55000	48,954.70				
RETROFIT STRIP SEAL JOINT LF SYSTEM								
Section Totals:			\$98,420.35					
Contract Totals			\$5,980,336.05					

Contract Totals	\$5,980,336.05	
Cost Plus Time Totals	\$5,980,336.05	

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 121 Contract ID: 18121 Counties: MONMOUTH

Letting Date: July 12, 2018 10:00 AM District(s): C1

Contract Time: 06/06/19 COMPLETION DATE

Contract Description: Route 36, From Bay Avenue (CR 8) to Ocean Avenue Project(s): NHP-0036 (300)

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS, INC.	\$5,980,336.05	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,